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We discuss formlization of systems depending on execution speed of processors. We investigate how to apply

model checkers to such formalization.
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int curvalue, prevalue;
while (1) {
curvalue = Sensor;

if (' curvalue && prevalue){
goooboooao
}

prevalue = curvalue;
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#define MP_INTERVAL 1
#define COIN_INTERVAL 15
#define SENSE_ON 15
#define SENSE_END 15

bool mpdone=true;
bool sidone=true;
bool s2done=true;
bool cdone =true;

int mpstate=0;
int slstate=0;
int s2state=0;
int cstate =0;

bool sivalue=0;
bool s2value=0;

bool presivalue=0;
bool pres2value=0;

bool cursivalue=0;
bool curs2value=0;
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int coinlinsert=0;

int coin2insert=0;

int coinlcount=0;
int coin2count=0;

active proctype scheduler (){
do
iitrue —
if
::(mpdone==true && sldone==true &&
s2done==true && cdone==true) —
atomic{
mpdone=false;
sldone=false;
s2done=false;
cdone=false;

fi;
od

active proctype mainprocess (){
do
sitrue—
if
::(mpdone==false)—
if
::(mpstate==MP_INTERVAL)—

atomic {
curslvalue=slvalue;
curs2value=s2value;

mpstate=mpstate + 1;

}

::(mpstate==MP_INTERVAL + 1) —

mpstate=mpstate + 1;

if

::(presivalue && !cursilvalue &&
coinlcount==2) —
coinlcount=0;

::(presivalue && !cursivalue &&
coinlcount<2) —
coinlcount=coinlcount + 1;

::else — skip;

fi;

::(mpstate==MP_INTERVAL + 2) —

mpstate=mpstate + 1;

if

::(pres2value && !curs2value &&
coin2count==2) —
coin2count=0;

::(pres2value && !curs2value &&
coin2count < 2) —
coin2count=coin2count + 1;

::else — skip;

fi;
::(mpstate==MP_INTERVAL + 3) —
atomic{
preslvalue=curslvalue;
pres2value=curs2value;
mpstate=0;
}
::else —
mpstate=mpstate+1;
fi;
mpdone=true;
fi;
od
}

active proctype coin(){
do
itrue —
if
::(cdone==false) —
if
::(cstate==0) —
atomic{
cstate=cstate + 1;
slstate=1;
}
::(cstate==COIN_INTERVAL) —
cstate=0;
:else —
cstate=cstate + 1;
fi;
cdone=true;
fi;
od
}

active proctype sensel (){
do
itrue —
if
::(sldone==false) —
if
::(slstate==0) — skip;
::(slstate==SENSE_ON) —
atomic{
slstate=slstate + 1;
slvalue=true;
}
::(slstate==SENSE_END&&
coinlinsert<2)—
atomic{
slstate=0;
s2state=1;
sivalue=false;
coinlinsert=coinlinsert+1;

}
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::(slstate==SENSE_END&&
coinlinsert==2) —
atomic{
slstate=0;
s2state=1;
sivalue=false;
coinlinsert=0;
}
celse —
slstate=slstate + 1;
fi;
sldone=true;
fi;
od
}
active proctype sense2(){
do
itrue —
if
::(s2done==false) —
if
::(s2state==0) — skip;
::(s2state==SENSE_ON) —
atomic{

od

s2state=s2state + 1;
s2value=true;

}

::(s2state==SENSE_END&&

coin2insert<2) —

atomic{

s2state=0;

s2value=false;
coin2insert=coin2insert + 1;

}

::(s2state==SENSE_END &&

coin2insert==2) —
atomic{

s2state=0;

s2value=false;

coin2insert=0;

}

relse —

fi;

s2state=s2state + 1;

s2done=true;

fi;



